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S BAIASHD
I KAAACA ZA (MY SAIY/AATE - DEF)

Sl XAl XS L DEE (St
SAH-AH -2 (SA) - HREAY - BES 01l Ao I AR Husz
2AJAd= 4 17,274,925 14,581,389 2,693,536

=2 259,000 259,000 0
Xl 244,000 0 244,000
[ 3,802,000 3,702,000 100,000
Al 12,969,925 10,620,389 2,349,536
RAMAC A ZH (MY - ZAIA/MAXE - DEF) 11,821,521 9,670,693 2,150,828
Xl 244,000 0 244,000
[= 3,752,000 3,652,000 100,000
Al 7,825,521 6,018,693 1,806,828
Xalps A5 L DL 2,831,920 1,663,192 1,168,728
[= 200,000 200,000 0
Al 2,631,920 1,463,192 1,168,728
AEAMY 24 2 X 221,800 178,192 43,608
201 LEt2 A H| 165,762 148,942 16,820
01 A2 22l H| 133,832 127,012 6,820
O1. LBt 2H| 114,400 112,900 1,500
SUAIUATFY YR8 A2
23X 3,300,000 3,300 1,800 1,500
03.2g4+¢ 11,200 8,400 2,800
“LAADUSHALRT/FE 3o EALY
20,0008 * 143 «103] 2,800 0 2,800
O5. 32| 8,232 5,712 2,520
~LAADASATFE JREX 24l
A 7,000 +5H %10 122 4,200 1,680 2,520
02 Z2=2YH| 11,930 1,930 10,000
O3. Al & ZHI X HI 10,000 0 10,000
“ATHMNIUKIAIE SAES(B2YEHLS Al
H)(BAHA) 400, 0002 %2574 A 10,000 0 10,000
202 Ol 22,560 10,200 12,360
01 2U 04l 22,560 10,200 12,360
OFEZ A A2FZF 044
AR 60,0002 *4H 32«83 5,760 5,040 720
OLAIIUSATFE ARFZF 0]
AR 60,0002 *5H 3 x73] 6,300 2,160 4,140
O2AIIY 84 HIOZ L 25H &8 42
=20 2 60,0002 *5H x353] 10,500 3,000 7,500
203 YR EXH| 31,000 18,000 13,000
03 Al =R P R=XIH| 31,000 18,000 13,000
OXRXANBHS RE=XH (BNHA)
8,000,000 8,000 0 8,000
OXXAMME 2% YR=XH 5,000,000 5,000 0 5,000
301 YBrE A2 2,478 1,050 1,428
09 BALAH B A2 2,478 1,050 1,428




S BAIASHD
I KAAACA ZA (MY SAIY/AATE - DEF)
Selr XANMY IS Y DS (St
SAH-AH -2 (SA) - HREAY - BES Ol A o4 I AR Hws2
OLAIIUSAENARE HAT 24
7,000 x202 x33] 420 0 420
OFXZZHHE AtstAR ARHHOHY EFAX 3
Al 7,000 x16 Y x43] 448 0 448
OATHMNUXZ0F M2IHIE3 9 AKX 2
A(RANEY) 7,000 x20 %43 560 0 560
TEHIACIT XA 1,363,000 355,000 1,008,000
307 @I2+0l & 1,363,000 355,000 1,008,000
02 QIZIAAALR B X 1,363,000 355,000 1,008,000
OXESTP I XA 2 X AHY (3-3E Xt, OH
E-24|) 156,000,000 156,000 0 156,000
O0URX AXH 25, S8IZ AL AL S
SIAFS (3-1E X}, OH & -2H]) 252,000,000 252,000 0 252,000
OLAIUES IR ALY
23X 600,000,000 600,000 100,000 500,000
OJl&=MYs HEZS(0HE) 100,000,000 100,000 0 100,000
ITHEQII LYAAMY(RINEFZXLX) 300,000 200,000 100,000
402 D12 K20 & 300,000 200,000 100,000
01 QI HEMYEE 300,000 200,000 100,000
OITYEQI LA ALY (10-5E X, O E-=H|)
2= 300,000,000 1Al 300,000 200,000 100,000
2AI|Y MEHH =4A 517,120 500,000 17,120
201 L9y 311,360 300,000 11,360
01 A2 22| H| 311,360 300,000 11,360
O1.28t2H) 8,000 0 8,000
“LAADYBAH AR FE LUt ZH
3,000,000 3,000 0 3,000
“2AD|Y QST ME L SAUK2 K
5,000,000 5,000 0 5,000
O5.3 2| 3,360 0 3,360
“AADIYEN P2 A
7,000 x4H 10 #1228 3,360 0 3,360
202 04l 5,760 0 5,760
01 2L 0dl 5,760 0 5,760
OYAIIUEN 2= ol
60,000 x4 32 x83] 5,760 0 5,760
HoM K4 8,226,200 7,605,100 621,100
(= 3,540,000 3,440,000 100,000
Al 4,686,200 4,165,100 521,100
SEATHAATER X 400,000 0 400,000
306 £¢12 400,000 0 400,000
01 =12 400,000 0 400,000
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I KAAACA ZA (MY SAIY/AATE - DEF)
el HoMY RAXH (St
2 A .2 (S H) - HEMNY - BHES 01l Ao I AR Husz
WOIAY GIEMON SHAY
400,000,000 400,000 0 400,000
UC-SE AR5 ZWE ST S2AI (2K 0 250,000 A 250,000
)
307 BI2t0| & 0 250,000 A 250,000
02 QIZtABAAA B X 0 250,000 A 250,000
OXNYGHE ULZEZHE S2AY (3 H,5-1E Xt
= -=2H|) (M) 3F o 0 250,000 A 250,000
HUXEZSAT MAMEIH RSAL(2HEFXR) 226,200 155,100 71,100
307 BI2t0| & 226,200 155,100 71,100
02 QIZIA A AR B X 226,200 155, 100 71,100
ONUHXSEZATHANY J=XAAY(2H-01Z)
71,100,000 71,100 0 71,100
TSHEXZIMEMMHME RIS (EX) 1,000,000 1,000,000 0
(= 500,000 500,000 0
Al 500,000 500,000 0
307 @I2+0l & 200,000 0 200,000
(= 100,000 0 100,000
Al 100,000 0 100,000
02 QIZIAB AN B X 200,000 0 200,000
OZSHZANME JaeXdst 2N (U=
#Hy) 200,000,000 200,000 0 200,000
(= 100,000 0 100,000
Al 100,000 0 100,000
402 D12 X201 & 800,000 1,000,000 200,000
= 400,000 500,000 A 100,000
Al 400,000 500,000 A 100,000
01 QI HEMYEE 800,000 1,000,000 A200,000
OZSHZIANHLE 2= (U2HH)
2= 800,000,000 1Al 800,000 1,000,000 200,000
= 400,000 500,000 A 100,000
Al 400,000 500,000 100,000
SEUAXNLUAZ ARG EZA(EX) 200,000 200,000 0
(= 60,000 60,000 0
Al 140,000 140,000 0
207 & RIH e 200,000 0 200,000
(= 60,000 0 60,000
Al 140,000 0 140,000
01 g EAH 200,000 0 200,000
OSSAXLINE HISX T (USHA)
200,000,000 200,000 0 200,000
(= 60,000 0 60,000
Al 140,000 0 140,000
307 @I2+0l & 0 200,000 A 200,000
= 0 60,000 A 60,000
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SN B SR(EA) - MBAY - BES 0] &b 2 p/E-T HDE2
Al 0 140,000 A 140,000
02 It HAMAEE 0 200,000 200,000
OSSATNLAY HASX =& (HEHE)
23 0¥ 200,000 200,000
= 60,000 260,000
Al 0 140,000 A 140,000
Ol & HE 33pZeg ARHME AF(EX) 300,000 0 300,000
) 100,000 0 100,000
Al 200,000 0 200,000
402 RIZEXt201 ™ 300,000 0 300,000
=) 100,000 0 100,000
Al 200,000 0 200,000
01 A=A EX 300,000 0 300,000
Obiol2 & e 3pZalg dARME 2S5 (01E
-=8l) 300,000,000& * 14l 300,000 0 300,000
=) 100,000 0 100,000
Al 200,000 0 200,000
+EHAZR HLEAD(BNHAENA) 100,000 0 100,000
307 glz2tol & 100,000 100,000
02 It M AMHEE 100,000 100,000
O+=FA2ZER MWL (HE-2HI)
100,000, 000& 100,000 0 100,000
sterged of olserd 763,401 402,401 361,000
Xl 244,000 0 244,000
=) 12,000 12,000 0
Al 507,401 390,401 117,000
K AS/Wat S X & 217,000 250,000 /33,000
307 21201 & 217,000 250,000 /33,000
02 HAHFHYANEEX 217,000 100,000 117,000
OXNAS/WSE X &AL 2 & 217,000,000 217,000 100,000 117,000
05 QIRt2IE 3 0 150,000 A 150,000
OXYGS/MNEZX AL (MBAE HH)
23 0¥ 0 150,000 A 150,000
KNASMWEER2(BEx) 394,000 0 394,000
Xl 244,000 0 244,000
Al 150,000 0 150,000
307 glztol & 394,000 0 394,000
Xl 244,000 0 244,000
Al 150,000 0 150,000
05 RIZt2IE = 394,000 0 394,000
OXNAS/NEEH X Z AL (HIRAY HA 45%)
394,000,000 394,000 0 394,000
Xl 244,000 0 244,000
Al 150,000 0 150,000
UEtEst 24 L XN (ASIs/BSI=dA2TH) 4,487,160 4,327,236 159,924
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= HE -2 (FH) - MM - BES Oif &4 JEH Husz
BEIIEEINY L D3 4,487,160 4,327,236 159,924
Detest o Y 23 336,660 176,736 159,924
201 L2yl 13,740 8,316 5,424
01 AL 2tel bl 13,740 8,316 5,424
O1.ggr48tY| 2,400 0 2,400
AT UK 22 A Qe8]
2,400,000 2,400 0 2,400
O5.2 5,040 2,016 3,024
-DEdlE ALEE ZA
A 7,008 +3+102L *128 2,520 2,016 504
SATHMUUR HRET 22X SA(RHH
) 7,0002 *3 +102 #128 2,520 0 2,520
202 01 bl 15,020 10,520 4,500
01 2UH 01 bl 7,020 2,520 4,500
OBsIlz ARE off]
23 60,0002 *3% +3 +73) 3,780 2,520 1,260
OMTHMUILK HRETIH (FHHE)
60,0002 *3% +32! %63 3,240 0 3,240
207 &1 IH 2 bl 50,000 0 50,000
01 RSyl 50,000 0 50,000
OJt&D1DI8 o SR Y| MY S NS AH
- 50,000, 0002 50,000 0 50,000
307 QI2+0| ™ 256,100 156, 100 100,000
02 QIR B MAR B 256,100 156, 100 100,000
ORWMSSA RIS (RO AAL (HE-SHI)
23 200,000, 0008 200,000 100,000 100,000
Ol LA X1 RHRIOHE (AR - S AD124/00 L XU R IH ) 824,916 534,916 290,000
= 259,000 259,000 0
= 50,000 50,000 0
Al 515,916 225,916 290,000
MTHANHN 22 824,916 534,916 290,000
2 259,000 259,000 0
= 50,000 50,000 0
Al 515,916 225,916 290,000
A1 TH A8 Ol LA X ALY 290,000 0 290,000
307 9I2t0| ® 29,000 0 29,000
02 oIAFMALET 29,000 0 29,000
OMTHMOULT S=BAY BX R2UEHEZ AL
29,000,0002 29,000 0 29,000
402 RI2ETH2 0| 261,000 0 261,000
B ENEEES 261,000 0 261,000
OMTHMUUT S=EAY SX ZHAY
261,000,000 *14! 261,000 0 261,000
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